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1 S8 39 T8 WHET 390 D D81 G 87

(A) TETERR (B) HegaTR
(C) THErE® (D) SAFieRETEE
(E) HTana s
2 Tfafiaa o snfaarees €31 & SaTe B
(A) foem B) T
(€ 4 (D) @I
(E) HTana s
3 g3 o oA SR A
(A) & (B) =
€ = (Dy #B
(E) HTana s
4 Down’s syndrome is caused due to trisomy of -
(A) Chromosome 11 (3) Chromosome 21
(Cy  Chromosome 01 (D) Chromosome 14
(E)  Question not attempted
s g Y TG % HROT & 2
(A) TUTEA 11 (B)  TONA 21
(C) T 01 D) T 14
(E) HTana s
5 Out of'the following which contrasting character was not selected by Mendel for his hybridization experiments

on garden pea?

(A)  Colour of flower (B) Colour of seed
(C)  Position of flower (DY Shapc of root
(E)  Question not attempted

fFreforfiga & & =i @ fordia 707 =1, Hov (e ) WS T 310 SR ST A ST T2 feRa o

(A) T (B) SlisTehTar
(C) T et (D) TS H IFR
(E) gt o
6 Which of the following is not a rcason to producc transgenic animals?
(A)  To test toxicity safety (B) To make somatic hybrids
(C) To obtain biological products (DY To study how gencs arc regulated

(E)  Question not attempted

frfafaa # & w7 a1 T (Ziasiten) S 3= 0 & H Tel &7

(A) ST GLaAT T Tlaror st o ferg (B)  hTlYer ke ST oh [oTg

(C) S seme e & g (D) S e fru s #, swem st s s fag
(E) gt o
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7 Which of the following pyramid’s is/ are never inverted?
(A) Pyramid of biomass (3) Pyramid of cnergy
(Cy  Pyramid of number (D)  Pyramids of biomass and number

(E)  Question nol allempled

FefeTiaa & & i ¥ foifae wt ot 3e7e =721 8 &2

(A)  SiemmET (@) # it (B) Tl ot fifirs
(C) w1 e (DY STEATT 37 T & fnfirg
(E) i ot
8 Which of the following directive principles in Indian Constitution requircs the state to organize village

panchayats and endow them with necessary powers to enable them to function as units of Selt Government.?
{A)  Article 38 {B) Article 39

(C)  Article 40 (D)  Article 42

(E)  Question not attempted

ARE & wige 7 Ffofad & # fore e fgia & TTaR U7 &1 ATH F=rId 31 §e H SR 370 e
=1 oIS o ¥4 H & o U HaH A1 o [T SATawae: JMich YaH &1 87

(A) =R 38 (B) 3TT%T 39
(C) =740 (D) 3TT=3 42
(C) AR 5
9 Which of the following Committee suggested the incorporation of cight fundamental dutics in the Constitution
of India.
(A)  Verma Committee (B) Swaran Singh Committee
(C)  Dutta Committee (D) Gokhale Committee

(E)  Question nol allempled

frer o fopm wfafa 7wt dfeamr o e1re witferers seieat =t wnfier s = g feam eme

(A) =i gifd (B) vl fE wiufa
(C) Farafufy (D) TivEer wfufy
(E) i ot

10 Who was the Chiel drallsman ol the Indian Constituiion in the Constilueni Assembly? (Choose the most
appropriate option from below:)
{A) SirB.N.Rao {B) H.V_R.Iyengar
(C)  S.N. Mukherjce {DY Prcm Bchari Narain
(E)  Question not attempted

oo T # e 3 Hoem % e TRoen s 4 (Frefefias § & g8 Sug foerer 3)

(A) W@ (B) TH AR AR
(C) uE O I (D) ¥ feraT{l TrTaroy
(F) ormia g

11 Tefafaa & g+ ske 6wty g
(A) ¥ (B) T
(C) Heht (D) fF
(C) AR 5
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12 HHIAdd ﬁ:ﬁ{‘df':labq HUTH =kl Ush 3alEit 2

(A) @A (B) W
(C) aFm (D} H=H
(E) #Tana s
13 T § &M AT HEE 87
(A) IRy (B) e
(C) wEehfe (D) FHTT
(E) i ot
14  Which of the following is the highest peak of Aravali range in Rajasthan?
(A)  Ser {B) Gurushikhar
(C) Dilwara {D} Rishikesh

(E)  Question not attempted
frefefia 0 § S TeanTe 7 qe8 ST BT #9978

(A) W (B) TR
(C) Taewamer (D) SfaRT
(E) i ot
15 Khetri Bansyal Conservation reserve is situated in which of the following place of Rajasthan?
{A)  Jhunjhunu {B) Koia
(C) Bhilwara (D) Ajmer

(E)  Question not attempted

WA FifttaTe gt fierd frefafias § 8 Tesam %S9 8 WA W a8

(A) ¥ (B) @i
(C) st (D) 3
(E) i ot

16 Which is the longest river of Rajasthan?
{A)  Mansi {B) Kali Sindh
(C) Parvali (D) Chambal
(E)  Question not attempted
TISTE 261 Har il et - 87
(A) Wt (B)  rett e
(C) et (Dy ==
(E) i ot

17 Chitrashala Art Gallery is situated in which of the following place?
{A)  Jaipur {B) Koia
(C) Bundi (D) Bikaner

(E)  Question not attempted
femraTen sherr-dieft fm et § @ form s o oo 22

(A) AW (B)
(C) =&t (D) ST
(E) i ot

Pi2] 4 [ P.T.O.



18  What is the rank of Rajasthan in milk production in India during 2022-23?
(A)  Second (B) First
(C) Third (D) Fourth

(EY  Question not attempted

at 2022-23 % FTER T SCNE H TICA T W H i | 2

(A) T B) T
(€ e (Dy =T
(C) AR 5
19  Which part of ashvagandha plant is mainly used to make medicines?
(A) TLeaves (B) roots
(C) flowers (D) pollen grains

(EY  Question not attempted

ST UT < TR T T qaTSat A o o . ST fepE ST 7|

(A) it (B)
(C) B (D} YU -
(C) AR 5

20 Which of the following is not an application of Bloed group inheritance? (Choose the most appropriate
option)
(A)  Solution of parental disputes.
(B) Treatment of necnatal blood hemolysis.
(C)  Trcatment of hereditary disorders, like hemophilia.
(D) Treatment of infection of 111V-1 and 111V-2.

(E)  Question nol allempled

fFreferfia o & el wRer - ot st 7 S T2 2 - (wad et fasen e )

(A) T Toamel s gHra (B) Tad sAg TeHITcT ¥4 Rl I9=
(C) Tewifhler S srfaiferes fahi &1 U= (D) HIV-1 3IR HIV-2 HshH0T 1 YR
(F) 3T T
21 Successions that occur on soils or areas which have recently lost their community are referred to as -
(A) Primary succession (3) Sccondary succession
(C)  Lithoscres {DY Priscrcs

(E)  Question nol allempled

o SATERHOT ST I AT AT &S § AT S FET e 6 A S HIEr 7 W 2, 39 waiid @ -

(A)  wrerfiren SRl (B) i srgsmm
(SR SECCE (D) JTohsFHeh
(F) 3T T

Pi2] 5 [ P.T.O.



22 P+ Q means P is the brother of Q
P x ) mcans P is the mother of
P — @ means P is the son of Q
P + () means P is the husband o[ )
Which of the following indicates that *A is the nephew of U’?
P+Qa#rarad 2f P, QAT WE &
Px Q& a2 fF p, Q Frumar &
P-QE T 2fED, QH R
P+Q HACAEREP, Q FUla?
fefafma i o mEmImefE A, Ustader?
(A) A+NxK+H+U (B A+NXxKxH-U
(C)y A N KxH=+U D)y A+N+KxH=T
(E)  Question not attempted / Bilfljﬂfﬁ RE]

23 Arrangcthe following words as in dictionary and then choose the correct sequence from the given alternatives-
Fier Tau 11U 3762t ohY TIeeenTY & S | TG 3T T2 U forshedt o ¥ Wl shH o = &)
I MABECLA . MABUSE
M. MABLE V. MABEPEARL
Choose the most appropriate answer [rom he oplions given below:
e fom T fereredt 7 @ W, ST St Sl = 1 STT;
(A) LILILTV (B) ILILTIV
(©)  Llv,10,10 (Dy 4L n,L1v
(E)  Question not attempted / 31?@'\’&[‘5[‘3

24 Choose the most appropriate opiion 1o [ill in the blank:

Rita didn’t see me wave to her, She in the other direction,
(A) isTooking (B) looked
(C) was looking (DY has been looking

(E)  Question not attempted
25  Choose the most appropriate opiion 1o [ill in the blanks:

The accident wictim by the time they him to the hospital.
{A)  was dead, rushed {B) had died, had rushed
(C) was dying , rushed {DY will be dead, have rushed

(E)  Question not attempted

26 Choosc the passive form of the sentence given.
A thief stole my dog and brought back only when T offered ¥ 5000 reward for him,
Choose the most appropriate oplion [rom below:
(A) My dog was stolen and brought back only when a ¥ 5000 reward was offered.
(B) Toffered a ¥ 5000 reward for the thief only then my dog was brought back.
(C)  Only when [ offered a reward of T 5000, my dog which was stolen brought bacle.
(D) A thief brought back my dog which he stole when T offered a reward of T 3000.

(E)  Question nol allempled

Pi2] 6 [ P.T.O.



27  Choose the word most similar in meaning to :

PROSCRIBE
(A)  Prchibit (B) Permit
(C) Appease (D) Prolong

(E)  Question not attempted
28  IBM system/360 is an example of which of the following?

(A)  Second Generation Computer (B) Fourth Generation Computer
(C)  Third Generation Computer (DY First Generation Computer
(EY  Question not attempted
FTgsfiam woretti360 7 8 & fortent Semeor &2
(A) HFUE TARH K (B) B TR FFE
(C) IS TN T (D) FE SO X
(E) gt o
29  Which of the following unit of the processor monitors and gives proper instructions to all parts of the
computer?
(A)  Memory unit (B) Control unit
(C)  Input unit (DY Arithmetic and logic unit

(EY  Question not attempted
SRR & FETefae o 9 &9 -H1 3ohrS sreyed o Gafi feed] ol T ohedll & o7 32 Sferd ferder et 87

(A) HER (B) AT
(€) FIIMAE (D) SIuHTeH Ta St e
(E) gt o
30  Which of the following is a fat-soluble vitamin?
(A)  Vitamin A (B) Vitamin By
(Cy Vitamin C (D) Vitamin B,
(E)  Question not attempted
T & o 0 T forer o e 7 gerRiter 87
(A) faafuT A (B) T[d2Ii*H By
() frefmc (D) FRFEB,
(F) ormia g
31 TUPAC name for the following compound is :
€l
TSe- CH;
CH;
(A) 1-Butenc (3)  2- Propyl-1-mcthanc
(C)  2-Methyl-1-propene (D) 2-Pentene
(E)  Question nol allempled
et fom e iR T IUPAC T 2:
CH;
T C - CH,
ClL; =
(A 1- @1\2':17-[ (Butene) (B)  2-SUTE (Propyl) -1 - B (Methane)
(C)  2- Af¥ret (Methyl) -1 - TTHH (Propene) (D} 2 -TU<IT (Pentene)
(F) ormia g

Pi2] 7 [ P.T.O.



32

35

36

37

The most stable ‘Fullerene”’ is -

it o T T -

(A) Cso B) Cy
(C) Cwo (D) Cn
(EY  Question not attempted / 31?@'?&[ EE

Which of the following is corrcet in regards to RAM?
(A) non-volatile, temporary (B)  volatile, temporary
(C)  wvolatile, permanent (D} non-volatile, permanent

(E)  Question not attempted

W o ey 4 eTeliad O 9 wi9 g8 82

(A) T ST, S (B) dTeiarse, S
(C) IS, T (DY - SR, T
(E) gt o

A valid formula in Excel begins with -

RS ¥ Ta dfere W R & 17 T

(A) + B) =
©) # ™ @
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

The design that regulate the layout and formatting for the slides in power point presentation, are known as -
(A)  Design plates (B) Templates

(C)  Placcholders (DY Blueprints

(E)  Question not attempted

T i5e SRe1ahoT H U Fesme Sit wretree 1 Fifra ofi st & fore wrafar sar 2, =t e &

(A) feamgr g B) TS
(C) wHeeed (D) = fiew
(F) ormia g

FfeTiEa # € 50 9158 31 T foraer 7ol 7 =i g1 -

(A) T (B) §uE

(C) WS (Dy I

(E) #Tana s

(A) 7 (B) IH

(C) = (Dy o=

(E) gt o

(A) amEe-ad (B) I - foer
(C) oHA - Dy - s
(F) ormia g

Pi2] 8 [ P.T.O.



39  Which of the following is NOT an input device?

(A) Touch Screen {(B) Scanner
(C) Mouse (DY Projector
(E)  Question nol allempled
frferfiaa o & i o1 e feamsw 38 &7
(A) TTEER (B) T
(C) W=E (D) iSiF
(C) AR 5
40 A tool used for operating industrial robots, playing computer games and training flight simulators is called:
(A)  Keyboard (B) Joystick
(C)  Light pen {Dy Mousc

(E)  Question nol allempled
Ueh SYeRUT SHT STITTeh Leligd o NI, Fed 1 o Well Ua Hl3e H NiRTeu] SS9 o 3Ush0 o &9 § Tk

TIAT & TFeaar 2 ;-

(A) FraE (B) Siafe®
(C) mEU (D) wI=H
(E) gt o
41  Tn which referencing, the cell reference does not change while copying the formula?
(A) Cell referencing (3)  Absolute referencing
(C) Relalive relerencing (D) Mixed referencing

(E)  Question not attempted

Torer TR , T 1ot e o Hiet Rt el ageram?

(A) Ot fropifEm (B) TEEIGE NwET
(C) Fefea fempife (D) Tirres frwifdn
(E) gt o

42  Which of the following is a smallest data unit of a computer?
(A) KB B) GB
(C) Byle {D} Nible

(E)  Question not attempted

frfcifiad & & #17 Sres i o1 <re gie 22

(A) T (KB) (B) ST (GB)
(C) @8 (Byte) (Dy & (Nible)
(E) gt o
43 F-1 % 9o -1 o S hifem
TEHT-1 (ST TEAT-11 (e 91eT)

a Y AT AH L &

b, W4 uRg . SR

c. @A gIT . 3o

d  fEEg TR lv. 3m=Ed
=1 faw e ot # © wrarfféres Iuger SO o =9 i
(A) a-TLb-TV,c-T.d-TI (B) a-TLb-TLc-TV,d-TII
(C) a-TV,b-TMc-T,d-T M) a-Lb-TMc-TV,d-TI
(E) HTana s

Pi2] 9 [ P.T.O.
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45

46

47

48

49

HT AT 36 379 % T forer grat T SRl ey 22

(A) &I 2 aTd el (B) ST ITEHT

(C) ek AT (D) =T

(E) gt o

T o Torw 3t < fors w158 =1 ST okt ST 82

(A) Circular (B) Order

(C) Reminder (D)  Memorandum
(E) gt o

Who presented Rajasthan state budget of 2024-25?

(A)Y  Jogaram Patel (B) Kirodilal Meena
(C) Bhajanlal Sharma (D) Diya Kumari

(E)  Question not attempted
Y 2024-25 TSRAT TS o1 97 Toha- T TorAT 2

(A) SO Yot (B) fortiteret diom

(C)  WSIeATet 3| (D) Teemspan

(E) gt o

Which Tndian athletes is known as the *Queen of Indian Track and Field” or *‘Golden Girl*?
(A)  Sunita Rani (B) Kamaljeet Sindhu

(C)  Krishna Punia (D) D.T.Usha

(E)  Question not attempted

Frferfiga o o fop i wyelie = «ardt o st dieg 1 Tt =1 “Tiieed el o A o SIET ST 82

(A) T (B)  shHelS{d 6y

(C) FomgEr (D) i

(E) gt o

‘NAMASTE’ scheme, is related to which one of the following group of workers?
(A)  Construction workers (B)  Health workers

(C)  Agriculture workers (D)  Sanitation workers

(E)  Question not attempted

e ST TR ol 3 o for it & wsifea &2

(A)  Toagior sfde (B) TS FIHH

(C) Iy kI (D) Ta=@dl HIHH

(E) gt o

T TRl & SAHTeRg | 4 4 § Torg 316a =Rl TAWT fora ST 27

(A) Hard (B)  HEIA

(C)  SATdeRT forameft (Dy firEaR

(E) gt o

Choose the most appropriate English translation of the given sentence.

TH T 1 &l GI 82

(A)  When did you sleep at night? (B) Do yousleep at night?
(C)  What time do you sleep at night? (D)  When did you go to sleep at night?

(E)  Question not attempted

Pi2] 10 [ P.T.O.
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Choose the most appropriate option for the reported form of the given sentence:
"“Read it for yourself if yvou don’t believe what T say”, he told me.

(A)  He told me to read it for myself'if T didn’t believe what he said.

(3) 1le asked me to read it himself if 1 was not ready to belicve.

(C) He suggested that I read it since I didn"t believe whalt he said.

(D) He told me to read it as T didn’t believe what he said.

(EY  Question not attempted

Choose the English word for the given word.

RERIECEECIR]
{A) Restricled holiday {B) Casual holiday
(C) National holiday (D)  Gazetted holiday

(EY  Question not attempted

Choosc the most appropriate word for the given sentence.

A person who 1s incharge of the objects or works of arl in a museum.
{A) Credulous {B) Carlographer
(Cy Curator (D) Calligraphist
(EY  Question not attempted

Choosc the word opposite in meaning to :

DISHEVELLED
(A) tidy (B) untidy
(C)  confident (D) jovial

(EY  Question not attempted

Choosc a word nearcst in meaning to the underlined word.

The convicl’s ingenuous explanation brought tears in everyone’s eye.
(A) insincere (B)  secret

(C) naive (DY clever

(EY  Question not attempted

Letx={1,2} and y = {1, 2, 3}. llow many diffcrent functions arc there from x in to y?
AT x = {1,2} &Ry = {1,2, 3} x ¥ y T {6t Fir-fir=1 o 22
(A) 3 (B) 6

(@ 8 D)y 9

(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

Pi2] 11 [ P.T.O.



57  Aman starts a business with T 40,000. After 4 months, Bhanu joins Aman with ¥ 20,000. Find their profit

sharing ratio aller one vear.

FTHT T 40,000 3 T e STTETT I[E AT 81 4 e 5 51E, W T 20,000 F 1 3T 36 |19 S QT ) T a9

o 3d I ST o T 3T ST J1 &
(A 2:1 (B) 3:1
(€ 4:1 >y 5:l

(E)  Question not attempted / fﬂ?la?lfﬁ RE]
58 To complete a cerlain lask 15 men lake 10 days working 12 hours a day. How many hours a day should 10

men work to complete the same task in 20 days?

TorselT ahTel shl QU o & U fo 7 12 5 ohref oheh 15 =¥ifeh 10 Todl & §1 i &) 3t =6 =6l 20 fodAT 3 g st
o ToTT 10 =R o1 O Tt o ot =ie o Rt =nnfe?
(A) 3 By 9
€y 10 Dy 11
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]
59  Who is the chict architect of the construction of *Ayodhya Ram Mandir’. {(Choosc the most appropriate
option from below:)
{A) Ram Sular {B) Jagmohan
(C) Chandrakant Sompura (DY Arun Yogira)

(E)  Question not attempted

e T wfex o Fmior o e areqen 1 &2 (e A o wad sws e =)

(A) THEM (B) AR
(C) =igarid @mqq (D) STE A
(C) AR 5
60  Who was the Chicf Election Commissioner of India during 2024 Lok Sabha Election?
(A) Rajiv Kumar (B)  Gyanesh Kumar
(C) Naveen Chawla {D} Sunil Arora

(E)  Question not attempted

2024 ek W1 TS o S, W o Ji&d T 3T 1 97

(A) TS FAR (B) JHTHAR
(OB CIEEIEE ] (D) T S
(E) i ot

Pi2] 12 [ P.T.O.



Read the given passage and answer the questions that follow: (Q. No. 61 to 65)
New Delhi: Whether it is playing chess online, ordering food on a delivery platform, interacting with bots for
reponses to queries, triaging patients or creating deep fakes, Artificial intelligence is now entrenched in
modern life, Tt isn™t surprising then that universities and research institutes are carrying out extensive studies
not only on the application of Al in multifarious disciplines, but also on the impact the technology has on
lives. At the Yardi School of Artificial intelligence in Indian lnstitute of Technology, Delhi, studics are being
conducled on building Al algorithms thal can be used [or different applicalions- a dialogue sysiem where
patients can talk to an agent aboul patient history, machines thal can interprel uluasound images and CT
scans and systems to predict cyclones early. The range of studies is extensive.
A lot of the studies at Yardi School are also assessing the existing AT algorithms to plug gaps and social
biases present. Abhijan Chakraborty, assistant professor, IIT-1D, said, “While these days, the hype is around
ChatGPT, there are other kinds of algorithms that are already in practice. For instance, when one applies for
a loan, banks usc a model in which data on the customer generates a scnsce of how risky the loan will be. [n
many of the contexts used for Al, it was found that the algorithms tend to be unfair to marginalized groups
because there might not be much dala available and the model automaltically assumes that the person is a
poleniial delauller.”
Chakraborty talked about its use in the judicial domain. “People are using a sort of predictive tool to determine
how likely a person is to commit a crime if released on bail,” he pointed out. “A study showed that it was
highly biased against African Americans with even those who hadn’t ever committed a crime being classified
as high risk.” Tt is because of these drawbacks that Chakraborty said the studies at Yardi School “aim to
create algorithms that arc fair across diversitics, cthnic, religious, linguistic or gender”. “We mcan to rectify
anything that dircctly impacts any particular group,” said the assistant profcssor.

61  Scienlists are aiming Lo creale an unbiased algorithm-
{A)  To study the impact ol technology on human liver
(B) To bridge the gaps and remove social prejudices
(C)  To study about potential defaulters
(D) To start a dialogue system for future patients
(EY  Question not attempted

62 A sct of rules that must be followed when solving a particular problem is
(A) Artificial intclligence (3) Multifarious disciplines
(C) Chat GPT (D} Algorithm
(E)  Question nol allempled

63  Match List-T with List-TI

List-I (Words) List-TI (Meanings)

a FEntrenched L. ability of show future happenings

b. Marginalised 1. established strongly

C Predictive UL Pcople that share the same cultural traditions

d. Ethnic V.  with not much say in important mattcrs.
Choose the most appropriate answer [rom he oplions given below:
(A) a-Lb-llec-1d-1V {(By a-IV.,b-LlLc-1l,d-1
(Cy a-TMLb-Tc-TV,d-1 (D) a-TMLb-TV,c-T.d-TII

(E)  Question not attempted
P12 @ 13 [ P.T.O.



64  Match List-T with List-TI

List-1 (Fields) List-11 (Applicacion of Al)

a Medicine I. Predicting natural catastrophies
b. Banking U.  Identifying Potential criminals
C. Criminology M.  Interpreting ultrasound images
d. Meteorology Iv.  Disbursing loans

Choose the most appropriate answer from the options given below:

(A) a-1l.b-1V,c-1l,d-1 (B) a-IV,b-Ulc-1,d-U

(C) a-IM,b-Tc-TM,d-TV (D) a-Lb-Mc-TV,d-TI

(E)  Question not attempted

65  Tdentify the drawback of using AT extensively according to the passage :-
(A) A bot will takc down the history of paticnt.
(B)  Biasness against certain sections of people due to lack of information.
(C)  Natural catastrophics can be averted due to timely alerts.
(D) Takes care of loneliness by providing online companions.
(E)  Question not attempted

66  FETaRed U 3Tg o I w15 €
a.  IHE b. IR
C. el d. HrEd
c. EQ'«EZT—H
il T3u T ferened| # & Faiferes Iqg UL T =4 shilSU;
(A) FaTa,bFRc (B) FAaAb,dFTRc
(C) HaAb, ¢ 3TRd (D) Hada, c e
(E) HTana s
67 Tmfafiaa ¥ gg fafiaa am 2-
(A) T8 3T T (B) ST S ST ST B
(C) ™ITE Y 218 9@ @I 1 (D) T =T A
(E) HTana s
68  Who was the Governor General of India when Awadh was anncxed by British?
(A) Lord Cornwallis (3) Lord Dalhousic
(C) Lord Velejali (D} Lord Canning
(E)  Question nol allempled
TorfesT ZT 7arer o foretar o Wr YT o7 TTaR SRl i o
(A) T HiHared (B) T SRSl
(C) TE aesiel (D) @€ KM

(E) i ot
69  Which onc of the following Articles of the Constitution of India provides the information about the functions
of Rajasthan Public Service Commission?
(A) Article 312 (3) Article 316
(C) Article 320 (D) Article 317
(E)  Question not attempted

I o GITeH 1 Tiad o & shia |1 STT=5 USTEAT Sish el ST o 1] o (oo o S <l 8?2

(A) ¥T=s 312 (B) AT 316
(C) =2 320 (D) &= 317
(E) #Tana s

Pi2] 14 [ P.T.O.



70 According to which Article of the Constitution of India, the Chief Minister is appointed by the Governor of

a Slate?
(A) Article 163 (3) Article 164
(C)  Article 165 {DY Articlc 166

(EY  Question not attempted
I o GITdH o fohH STT=5 o ST Jeaull ohl [47[f<h U3 o USadTeT GRI shi STl &7

(A) 3T 163 (B) &= 164
(C) TR 165 (D) 3T 166
(E) STarayd

71 was the first statc to cstablish Panchayati Raj.
(A)  Gujarat {B) Rajasthan
(C)  Uttar Pradesh (D) Punjab
(E)  Question not attempted

TR T ST el AT T e o772

(A) TS (B) UsFIH
(C) FRWET (D) U
(F) ormia g

72 Geendar dance is associated with which region of Rajasthan? (Choose the most appropriate option from
below:)
{A) Bamer {B) Mewar
(C) Marwar {DY Shckhawati

(E)  Question not attempted

Tiieg Tea 1 T T 3 T8 &0 & o7 (T 0 8 a8 ST fohed 77:)

(A) TR (B) Hare
(C) HEEg (Dy IEET
(C) AR 5
73 Who among the following was the follower of Nirgun worship? (Choose the most appropriate option from
belows)
(A)  Ram Charanji (B) Meera Bai
(C) Dadu Dayal (D) Ratan Singh

(E)  Question not attempted

Trforfaa o & @i Fror surear 1 stamt o (e & wad 3w faeeed =)

(A) T TSI (B) wHwaw
©) T/WE™ (D) TAEE
(F) ormia g

Pi2] 15 [ P.T.O.



74  Match List-T with List-TI

List-1 (Fair) List-1L (Place)
a Beneshwar I. Karauli
b. Kaila Devi 1L Tonk
c. Jeen Mata M. Dungarpur
d. Diggi Kalyanji IV. Sikar
Tt L 1L @ gufora A
T -T (Fe) T -1 (Fa)
a. U L e
b. et n. =
c.  SH9TAWT . $my
d.  Touft weamr s v, e

Choose the most appropriate answer from the options given below:

i few T fereredl # € @ iferes IagT SO T 9 IS

(A) a-TLb-TLc-T,d-TV (B) a-Lb-Ic¢-TLd-TV
(C) a-I0,b-Le-IV,d-U (DY a-IV,b-Llc-1Ld-1
(E)  Question not attempted / 31?@'?&[ EE]

75 was the [irst educational salellite launched by ISRO in the year
qET ST 37T ISROFT 4 & SIeT T om
(A) GSAT, 2010 (B) EDUSAT, 2004
(C) METSAT, 2010 (DY EDSAT, 2006

(E)  Question not attempted / 31?@'?&[ EE]
76  In a pedigree analysis il is observed thal only male children are aflected with the Haemophilia disease
because it is a/an:
(A)  Autosomal recessive disorder (B)  Sex linked recessive disorder
(C)  Autosomal dominant disorder (DY Scx linked dominant disorder

(E)  Question not attempted

arraedl fasdwur 3§ 3 <@ 7 2 foh et orges S form U ¥ ifed gid &, Fiter a8 ush-

(A) ATt st e (B) foim weemm erywre fepme
(©) e mE fasr 2 (Dy  foir wEem wurelt foemm 2
(E) HTana s

77 Which civilization is famous by the name Dhulkot or Tamravati Nagari? (Choose the most appropriate option
from below?)
(A)  Aahad (B) Balathal
(C) Chandravau (D} Indus
(EY  Question not attempted
I Hl AR YeTehie AT THadl AR o A1 3 Nibg 82 (HH 3 8 gl U faehey =H:)

(A) ¥ES () ST
(C) st (D) fiy
(C) AR 5

Pi2] 16 [ P.T.O.



78  Select the most incorrect statement from below about Kalibangan civilization.

(A)

(B)
(©)
(D)
(&)

The ancient Drishadvati and Sarasvati river valley (Present day Ghaggar riverine area) cradled the
civilization of Kalibangan.

This civilization is siluated in Hanumangarh district of Rajasthan.

Kalibangan was a planned cily, the sunbaked bricks were used 10 build houses.

No evidence ol ploughed field has been lound in Kalibangan.

(uestion nol allempled

SIS ST WA o Gas] H Gef 37ed sh T =/ &)

(A) ST et ST et Tat O (T SR T &) 3 refis shr wert s s
(B) T W] TIEH o6 BIATTE (el H 100 2
(C)  hTeiTeTT Uep Fi-raiierd 3ret o, sl < fomior o fore oo 3 st $21 = 3o fopar s =)
(D) TGS H QTS ATe & 1 1S YW T8 foret o
(E) HTana s
79 After the death of Rana Sanga, who became the ruler of Mewar? (Choose the most appropriate option from
below:)
(A)  Rana Vikramaditya (B) Rana Ratan Singh
(C)  Rana Uday Singh (DY Rana Amar Singh
(EY  Question not attempted
TIOTT ST 3T e o T2, HATS o1 SMEeh i o7 (FeT ¥ & e 39w foreed 1)
(A) T ReEfeer (B) T fw
(C) o 37 R (D) I 3 e
(E) i ot

80  Find missing number in given figure.

-1 SATeRer H STH HEAT T shilST;

6B

(A) 191 3y 261
(C) 181 Dy 291
(Ey  Question not attempted ¢ 3@1’&[ EE)
2 a2
81 If o and P are the roots of the equation 3x” —13x+14=0, then wha is the value of %?
Ly
L2 2
g 0, 3R B R W 357 — 135114 =0 HATAE, df = +BB EIRIEERIEY
o
(A) 8 ® &
28
o g 83
(©) 2 (D) -
(E)  Question not attempted / Gﬂ?l‘ﬁ?r EE)
82 Freffian § Frds e freds g
(A) T+ s7eler (B) T +anefem
(C) t: +31ef® (Dy Ty + el
(F) 3T T
P12] @ 17 [ P.T.O.



83  Which conclusion/conclusions would follow on the basis of given statements:
Statements:  Somc Flats arc Apartments.
No Apartment is a Hall.
Some Hall are Rooms.
Conclusions I Atleast some Rooms arc Flats.
IT: No Apartment is a Room,
Tn light of the above statements, choose the most appropriate answer from the options given below.
(A)  Only conclusion I follows (13)  Only conclusion Il follows
(C)  Both conclusions Tand 1T follow (D) Neither conclusion T nor T follows
(E)  Question not attempted
ey T TG e o TR YT R AT R, AT &9 6 T T STE T B
FHU: FS T I B
1S S et Fel &
T BIeT €l
fre: LFATFA TS IR RRED
I1: hIE SArHe a2 2)
IYE T ok ST # Afiad feredt # & waffaes sogw s T

(A) e e 1 ST T 21 (B) eIt foreah 11 T80T Ll 2
(C) ST ek T I 1T ST el (D) T Al T 13777 21 11 S350 331 2)
(E) #Tana s

84  TIn a certain code langnage it PHYSICS is coded as KSBHRXH, then how BIOLOGY can be coded in the
same language?

IfE P11YSICS T TRt Rifea AT & KSBIIRX1] TS ForaT SITaT & 91 S8 I ST 7 BIOLOGY &1 4 formear

ST
(A) YSLOMTC (B) YRLOLTB
(C)  YRMOMTE (D) YRLOLSB

(E)  Question not attempted / 31:|Qﬂ|‘1'?'| EE]
85  Select the figure from amongst the answer figures which will continue the same series as established by the

given problem figures.

I ST H H 3G ST 7 a4 LS AT 75 T2 STHITAT GRS TIoe Sioft 3 3 It 31 el

Problem figures / H%TBTIH;%’QT
X #=|C ®|5 #|C X|l® #
b X L 5 X
L C|# 51X clF &S C
(i) (ii) (iii) (iv) v
C X C X
(A) . (B) ¢
. * 8
C s C
©) . (D) .
* X F X

(EY  Question not attempted / 31?@'\’&[‘5[%
P12] @ 18 [ P.T.O.



86  Mathematical symbols are respresented by alphabets as shown below:
Tfvrefier forel 1 e SteR g geia w2, S i fowm mn 2

+ | x|=|=]|>]<

BIGIE|C|D|A|F

Now identify the correct expression from the given options:

e feu v fersredl O 6 T Afs=afts 1 =R

(A) 18C3D6B8C4G 12 (B) 18A3E6BS8G4B 12
(C)y 18C3G6BSB4D 12 (D) 18F3B6E8GA4E 12
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]
87 A circular park whose circumference is % m has 10m widc path running around it (outside the park). What

22
is the area (in m2) of the path? (Use n= 7)

o TR o Foreeh o e o 2, 3HF AW AR (I F FTEY) 10 WY, ST T ) T 7 S (W12 )

7

w%‘?(?ﬁi—z T JTANT )

50600

() = e ®) o i)
48400 o . 52800 4 5
© —7 "R D) ——m" (ir)

(E)  Question not attempted / 31?@'\’&[‘5[‘3
88  In an clection betwoeen two candidates 73% of the voters cast their votes, out of which 4% of the votes were
declared invalid. A candidale gol 9,261 voles which were 75% ol the total valid voles.
Find the total number of voters enrolled in that election.
3 AT % TeA A1 | 75% HaaTarsl 4 ST 7aa oo, S & 4% Ha 37 97 70) Uk STt 9,261
T WTH BU ST e S HA I 75% B IH A o Fol AHI(hd AT o6l HET 3H 74 e
(A) 17,150 B3y 17,000
(C) 16,800 (DY 16,300
(E)  Question not attempted / Bilfljﬂfﬁ RE]
89  Which allotrope of carbon is a good conductor of electricity?
(A) Graphite (3) Diamond
(C) Fullerene (D) Coke
(E)  Question nol allempled
IS T 3 AT SUET” 2 1 gares: 87

(A) UBTEZ (B) T (EEAT)
(©) eI (D) i (Tl i)
(C) AR 5
90 A full length image of a distant tall building can always be seen by using :-
(A) aplane mirror (B) both concave as well as plane micror
(C) convex mirror (D)  concave mirror

(E)  Question not attempied
X foret W et SR ot o fcrfereat frifotfiaeT o1 ST afeh ST ST ST HekdT -

(A) Tudd g (B)  ITadel 3R Guae 40T 2T
(C) e aum (D) 37Fae g907
(F) ormia g

Pi2] 19 [ P.T.O.



91  Which of the following Dams in Rajasthan is NOT on river Chambal?
(A) Gandhi Sagar Dam (13) Rana Pratap Sagar Dam
(C) Kota Barrage (D)  Ramgarh Dam
(E)  Question not attempted

TR 3 foreafeafiar wet 3 & B ey e e W

(A) T AR =iy (B)  IUIT &Y | &7eT
(C) WIS (D) TR Y
(E) #Tana s

92  “Mitigating poverty in western Rajasthan” (MPOWER) is being implemented with the help of -
(A)  World Bank
(B) RBIL
(C)  Asian Development Bank
(D) TFAD (International Fund for Agricultural Develpment)
(E)  Question not attempted
~Of et TSI 7 TRIST S (TH HTeR) #hi forereht Femaar & foraf-aq feram <1 <aT &7
(A) fagd=
(B) #AR IR
(C) TRMA SoeuHe S
(D) 7. Uh. T, F. (WIS Hhe R Tidheeicd SaadHe)
(E) #Tana s
93  Tn which year Rajasthan State Food & Civil Supplies Corporation was established?
TSTET TS WE Ud AT STGfd 7T 2hl 1o fopdt e o s off?
(A) 2010 (B) 2012
(C) 2011 (Dy 2014
(E)  Question not attempted / Bilfljﬂfﬁ RE]
94 By the 44th Amendment Act which of the following fundamental right has been removed from the list of
fundamental rights?
(A) Right to Property (B) Right to Equality
(C) Right to Freedom (DY Right against cxploitations
(EY  Question not attempted

44 eIre ATeri-em g feiad | & Torw wifotsh stitrerr ol difcrar stfershr o1 o=l 4 ger o mm 87

(A) EFaf T ARER (3) T FT AR
(C) T &7 3ATFR (D) Iy o fereg, SAfeeRm
(E) gt o

95  On which datc RI31 announced withdrawal of T 2000 currcncy notes from circulation. (Choosc the most
appropriate option from below:)
(A)  April 16, 2020 (B) August 15, 2021
(C) May 19,2023 (DY May31,2022
(EY  Question not attempted
Torgr feifer &l AR &l #ATE. 4 2000 o LT AIE o THI 1 Ush T SN0 a1 2T (1 O 3 el 30 Tofehed

=)
(A) 3T 16, 2020 (B) A 15,2021
(C) HE19,2023 (D) HE31,2022
(E) #Tana s

Pi2] 20 [ P.T.O.



96  Where is the Indian Tnstitute of Handloom Technology located in Rajasthan?
(A)  Jaipur (B) Udaipur
(C)  Jodhpur (DY  Bharatpur
(E)  Question nol allempled
TSTET U S e (S-Seld) TTail e §ed el o fbud &2

(A)  SHEL (B) 3SqIYX
(©) SR (D) WA
(C) AR 5

97  Under which scheme 3.25 crore accounts have been opened in Rajasthan up to September 20227
(A)  “Pradhan Mantri Jan  Dhan Yojana (PMIDY)”
(3) “Pradhan Mantri Jecevan Jyoti Bima Yojana (PMIBY)”
(C)  “Pradhan Maniri Suraksha Bima Yojana (PMSBY)”
(D) “Pradhan Mantri Mudra Yojana (PMMY)"
(EY  Question not attempted
fore TS 3 e Trear # Raeeert 2022 9 3,25 S T Eiet T = &7

(A)  “HYTEEAT SEET ST (PMIDY) (B) W Site saifer sfiqr AisHT (PMIJBY)
(C)  “WeT=wa1 GLaT sH7 A1 (PMSBY) (D) “TEMHAT J&T ASHT" (PMMY)
(F) 3T T

98  Wherce is Rajiv Gandhi Fintech Digital Institute to be cstablished in Rajasthan? (Choosc the most appropriate
option from below:}
(A)  Jodhpur (B) Udaipur
(C)  Jaisalmer (DY Jalore
(E)  Question not attempted
Triter ifelt fipmess fefSteat $ieage wrere o st wenfua foram s 22 (R o  wadt s fasea =10

(A) STE (B) IR
(C) SHHT (D) SR
(E) HTana s
99 Which ol the lollowing will sink in water?
(A)  Kerosene (B) A ball of stainless steel
(C)  Empty plastic bottle with closed lid (DY A wooden stick
(E)  Question not attempted
Freferfiga o & =i ot 3 5o S
(A) ORI (B) T W g
(C) % TR ISt W i @Teft ataet (D) T THS i AT
(E) HTana s
100 The non-metal which is used [or making elecirodes and 1s also a good conductor ol electricily is :
(A)  Sulphur (B) Tron
(C)  Graphite (ID) Nitrogen

(E)  Question not attempted

fFreferfi o & i w1 S1aTq Foie S S & o s forr SiTa & Sfw St forga ot geers W 2 2

(A) HeHL (B) @&
(C) I3 (D) TS
(E) HTana s

Pi2] 21 [ P.T.O.



101

102

103

104

105

106

Choose the most appropriate option to fill in the blanks.

Mr. Mehra called while you were oul. He wanis 1o make complaint about
article in the paper. lle wasin  very bad temper.
(A} A,aan,a (B) x,an,an,an
(C) A, a, the,a (D) A, x, an, the

(E)  Question nol allempled

Choosc the most appropriate option to fill in the blanks -

Tcan’t do this job alone. Tneed  to help me; in fact will do, as T just need to
assist me.

{A) nobody, noone, anyone {B) anylhing, nobody, anybody
(C) somebody, anyone, somecone (DY anybody, nobody, anvone
(EY  Question not attempted

Choose the most appropriate option to complete the sentence;

The [ull form of DO letter in administrative or official communicalion is

(A) Demi official (3)  Dircet official

(C) Do Open (D) Dare open

(E)  Question not attempted

Fill in the blank choosing the most appropriate oplion :

Lle succeded in life his physical disabilitics.
(A) incase of {B) butfor
(C) inthe event of (D) inspite of

(E)  Question nol allempled

Choosc the most appropriate word to complete the sentence given.

For once all the committee members agree one another.,
(A) to (B) in
(C)  wilh {Dy [for

(E)  Question not attempted
Five students participated in a scholarship examination. Suman scored more than Preeti, Komal scored less

than Sunita but more than Suman. Mansi’s score is between Preeti and Suman. Whe scored least in the

examination?
(A) Suman (3) Mansi
(C)  Preeti (D) Komal

(E)  Question not attempted
i ST - SEah e § e fo g et it  sftes ofe firet #we w6 gHftar @ @ st ww gudteT d
AT o TR W AT ) T e T g SR S o e ° ot e, v § e 9 o R T

T

(A) g (B) T
(©) it (DY FHA
(E) HTana s

Pi2] 22 [ P.T.O.



107 Eight persons L, M, N, P, Q, R, S and T are sitting around a round table conference facing the centre.
1. R sits between L and S
1. 8, who is the neighbour of @, sits third to the right of T
TIT. Q sits second to the right of T.
1V. M sits third to the left of R
Then who is sitting at immediate right of M7
ARG L, M, N, P, Q, R. S Tl T Ua: TIICATehIX Ul o =R S G H o shl 3T ek oS 2
LR, LUFS FHTHaT
T S, Q% STAH T o FTieAT a0 aTa TR T 2T 2
TIT. Q. o 2TieHT q AL HK T 12T 2
1V. M, R % T} 90 e o) W 337 2|

TT M ¥ ST § i afet 3T ST &7
(A) R B) Q
(C) L Dy P

(EY  Question not attempted / 31?@'\’&[‘5[‘3
108  Ashok walks 4m towards north. He tums to his right and covers a distance of 12m and afier that he turns to
his left and covers a distance of 12m. The shortest distance between starting point and end point is:
(A) 23m (B) 28m
(€C) 25m (D) 20m
(E)  Question not attempted
7Y I HT T 4 HZ T 81 T: T AT 3R TgH |2 HIT ToF <l & A1 3o A1E T8 01 a7 37
Ul 8 SR 12 Hiet <l 0l ook =Ietd1 8] 272k shi SR fofg & i deh ohl T-erea it o1 gar o

(A) 23l (13) 287X
(C) 25¥T (D) 20T
(E) gt o

109  Which of the given option, will complete the given serics?

S e ot A 2 i 1 shren g )

asbe. bea b a be
(A) aabca (3) aacha
(C) abaac (DY aaaca

(E)  Question not attempted / Bilfljﬂfﬁ RE]
P12 @ 23 [ P.T.O.



110 Match List-T with List-TI
List-I (Right) List-TI (Related to)

a, Right to Equality L. Protection of life and personal liberty
Right to Freedom 1. Prohibition of human trafficking and
foreed labour
Cultural and cducational rights oL, Abolition of titles cxcept military and academics
d. Right againsi exploilation IV. Right of minorilies 1o establish and administer

educalional instiiulions
el -1 ol HeT -TT 8 YA ford shifsfu -
-1 (aTterT) ell-TT (FresTieerd 8)

g,  EHFCT F HANHR [ (R R | S R SRR LI A RS

b, AT H IMFR I, AT o SR a6 oW T iaes

c. Wil T IeAfo HAferFm UL §= 3R AT ST ST, I
I T S

d. i o fog o1fiee IV. e sl Starforen Sy Eiue s 3t
STERT TG St o7 AR

Choose the most appropriate answer from the options given below:
il T3u T ferened| W & Faiferes Iqg ST <A shilS(U;
(A) a-Tb-T,c-TId-TV (B) a-Tb-TV.c-Td-TI
(C) a-TV.b-TMc-T.d-T (D) a-TLb-Tc-TV,d-T
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
111  Who was the Statc Election Commissioner of Rajasthan as in August 2024?
{A) Inderjit Khanna {B) A.K Pandey
(C) Madhukar Gupla {D}  Prem Singh Melra
(E)  Question not attempted
A 2024 H USRI o TS = AR i 92

(A) e G (B) T U®
(C) TIFCTA (D) Im e d=T
(E) HTana s

112 Which of the following is a sccond gencration computer?
Trrferiiera 1 & =i 61 qudl / UohUs LRI 1 PR 87
(A) IBM 4341 (B) ENIAC
(Cy IBM 7030 (D) IBM Notebook
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
113 Which of the following became the first state to adopt a read safety action plan?
(A) Maharashtra {B) Rajasthan
(C)  Gujarat (DY  Madhya Pradesh
(E)  Question not attempted
fFreferfie o & i o1 T T YA R AISET ST AT FoH T /12

(A) HENZ (B) USTEIM
(C) TSIUd (D) I e
(E) i ot
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114 When a ray of light travels from the denser to rarer medium:-
(A) it bends away from the normal. (B) it bends towards the normal.
(C) it goes straight. (D) it comes back in the same medium.
(EY  Question not attempted
T T T U ToRT T wree TRt Aem 5 S 2

(A) & AT T A STt 2 (B) g SAvets i 3T TS St 2
(C) T8 €l et St 81 (D) % I AT W AT 37 ST 2
(E) #Tana s

115 Focal length of a concave lens is 50 cm. Its power will be :-
T STA T 2] BIE 3 50 em 3 3w 47T 20 -
(A) —2D (B) +2D
)y -5D (Dy +5D
(E)  Question not attempted / Bilfljﬂfﬁ RE]

116 Two identical lamps L and L, are connected in an AC circuit as shown, then -

2 U YA e Ly Ud Ly Toh TedTard| GRaY J e siig S &, e -
500 K L
2
100mH G,

N

S
200 v, 50 Hz

(A)  Both lamps glow equally bright @ﬁmwm%ﬁ)
(B) L, glows brighter than L, (L, GERERE] L, o
(C) L, glows brighter than L, (L, tis WeT=T 71T L, §)
(D) L, docs not glow (L, WRTET EEl ém)
(EY  Question not attempted / 31?@'?&[ EE
117 Fe,0, +3C0O —> 2Fe +3CO0O,
Tn the above chemical reaction, the reducing agent is :-
SO &Y TS T AT H e 2
(A)  Fey04 13y CO
(C) Fe Dy COq
(E)  Question not attempted / 31?@'?&[ EE]
118 Which of the following is not the characteristic of a physical change?

(A)  New substance is formed.

(B)  This change is temporary.

(C)  Onrecmoving the cause of change, it is reversed.

(D) Only physical propertics of substances like state color, smell cte. change.
(EY  Question not attempted

Tferfiaa o & & o ifaw afad & feear 78 &
(A) T ugref o1 fmior g 2
(B)  uftaeds stormh gar &)
(C)  UNad T Tel 0T i B2 0, I8 Tiaatad &t S gl
(D) e qaret 2 siiferen Tt S R srarean, o, e genfe § ofedw Sar )
(F) 3T T
Pi2] & 25 [ P.T.O.



119

120

121

122

123

124

21,0, —l o1,0 1 0,

In the above chemical reaction glycerol 15 a:

(A)  Tositive catalyst (B) Negative Catalyst
(C)  Auto catalyst (DY Bio catalyst

(E)  Question nol allempled

2H,0,— o1 040,

FL S TS TEmEe sl § fauta 2l

(A) ST 3R (B)  SFIHE IIF
(C) & I (D) FT 3

(F) oTaia T

From the top of a 216 m high cliff, the angle of depression of the top and bottom of a tower arc 30° and 60°
respectively. Find the height of the tower.

216 9, Feft Ig & T o T 2T & T 3T 77 o ST 10 HAT; 30° 3T 60° 2| 2= T FHE78 I F
(A)  135m (H1) (B) 140 m (41

(Cy 142 m (H1) (D) 144 m (HL)

(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

How many triangles are there in the given figure?

s 78 s oy v 7

(A) 10 {B) 11

€y 12 Dy 15

(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

The value ol col 15° « col 20° « col 45° . col 70° < col 75% 15 :

cot 15° - cot 20° - cot 45° - cot 70° - cot 75° T T 2

(A) 0 B) 1

© 2 (D) 2

(E)  Question not attempted / 31?@'?&[ EE]

Following lour numeral pairs are given. Oul of these, three are alike in a certain way bul one is diflerent.

Choose the one which is different from the rest three.

i = T S faw e #) S8 2 o o o & T i o FaeT 21 e = 6 S S o
# =T 2l

(A) 42,252 (B) 24,144
(C) 34,204 (DY 26,182
(E)  Question not attempted / Bilfljﬂfﬁ RE]

Find out the incorrect term in the given sequence

=il faw are shm o © oA WA ST g hi

987, 906, 842, 792, 757, 732, 716

(A) 906 (B) 842
©) 792 (Dy 757
(E)  Question not attempted / 31?@'?&[ EE]

Pi2] 26 [ P.T.O.



125  What was the theme of “World Sight Day, 202377

(A)  Colour blindness {(B) Night-blindness

(C)  Donate your eyes (DY Love your eyes at work
(E)  Question not attempted

‘farr e faaw, 2023 st ofim (forwer) am of?

(A)  FUTT-IET (el SeTTSe-H)

(B) T (15T STI5e)

(C) T T TF i (THE T TS

(D) T I qHT TG AT o TATELT KT & T (AT T AT U2 )

(C) AR 5

126  Who among the following won the silver medal at the 6t Asian Trampoline Gymnastics Championship?
(A)  Rucha Divekar (B) Kalpana Debnath
(C)  Srishti Khandagale (DY Dipa Karmakar

(E)  Question nol allempled

DS UM draiel= it Sftrmfig F e o @ e i 9ee (Silver medal ) Sfaram

(A) & fedeht (B)  hedHT ST
(C) Y Eere (D) Ffur FATR
(E) HTana s
127  Couniry’s [irst underwater melro line was inauguraled by India’s Prime Minister in which cily?
(A)  Mumbai (B) Delhi
(C)y Kolkata (D)  Kochi

(EY  Question not attempted
O & TATTHET GRT 397 St Ueelt STSETeT Ul A 1 Sg1e T ITex 7 fomar 1ram oo

(A) T (B) foeeft
(C)  <hIeThram (Dy il
(F) 3T T

128 What is the theme for *National Science Day 20247
(A) Indigenous Technology for Future India
(B) International Technologies lor Viksil Bharal
(C) Indigenous Technology for Atmanirbhar Bharat
(D) TIndigenous Technologies for Viksit Bharat
(E)  Question not attempted
i foee feam-2024° w1 o s o s 29
(A) Tt TR o fore 3t srifivebyaerien Efsfairma damratis wi w=r 3feam)
(B) okt yra = fotw siawusd ™ T fieh/dshich (SeXI9a Salatisiiet B fohiid W)
(C)  TeRTTT e & foru it Srenfirebiyasrier (Sfeffaema Tereistt BR et am)
(D) Tererfi v 3 for 3t e aet (Gl emmsis v R wma))

(C) AR 5
129 Keoladeo Ghana Naitional Park is located in which place?
(A) Bundi (B)  Bharatpur
(C) Dholpur (D}  Sawai Madhopur

(E)  Question not attempted
ShactTad =TT TS ST el e 29

(A) o=t (B) WY
(C) R (D) HaTS HIETH
(F) ormia g
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130 At the time of freedom how many Riyasats were there in today’s Rajasthan? (Choose the most appropriate
option from below:)
HTSITET 3 TH ST 35 TTEdT | Tt e off? (P & 8w 3w forded o)
(A) 15 B) 17
< 19 Dy 21
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

131 What was the ancient name of Jaisalmer?

(A)  Maru (B) Maran
(C) Mand (D) Dhad
(E)  Question not attempted
ST 3T T 1 2T o2
(A) H® (B HrA
(C) wE (D) g
(E) i ot
132 Tn the genre of Rajasthani prose and poetry the works which throw light on the achievements and incidents
of a particular individual and dynasty arc called . (Choosc the most appropriate option from
belows)
{A) Vel {B) Vachnika
(Cy Prakas (D) Vigat

(E)  Question not attempted _
TTETHT TR 37 92r < Ferams T 3 3 e St foreft oortr W Tetarer =T Suetfeu™ Ue HeATe Tl O WoRTeT Sreldt €,

R 8] (FeT W o e S9h foshed 94:)
Ru L=

(A) et (B) F=
(C) W& (Dy foma
(E) gt o
133 According to the census 2011, which of the following districts has lowest literacy rate in Rajasthan ?
(A) Jalore (B) Udaipur
(C) Bikaner (DY Jaipur

(E)  Question not attempted
2011 3 ST o SER, i 7 @ e o for fret o e a0 e sm 7

(A) SRR (B) 3L
(C) iR (D) AR
(F) ormia g

134 Given below are two statcments:
Statement (I): Black soil is found in Kota, Bundi, Baran and Jhalawar districts of Rajasthan.
Statement (I1): Black soil conlains enough quantity of Nitrogen bul lacks in Calcium.
Tn light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (TT) are true.
(B) Both Statement {T) and Statement (1T} are false.
(C)  Statcment () is truc but Statement (11) is false.
(D) Statement ([) is false but Statement (11) is true.
(E)  Question nol allempled
it <1 e ﬁq e
T - T : ahIctl ﬁqg“ru\slwm o 121, Sfal, ST SR FIeTds TSl o urg STt 8)
T - 11 : et fﬁ@“’rﬁ‘dls;lw ﬁmwﬁﬁ%ﬁw#ﬁﬁ?ﬁ%
Y T ok ST # Afeiad e ﬁ‘ﬁ'ﬁaﬁ%ma‘rﬂ‘aﬁ

(A) A L 3P 11 BT a8 (B) o 1 3R 11 3T s B
(C) LTI &, Ters] o L S € | (D) U L 3FEc & , Tohes] e Ll 6 Bl
(E) gt o
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135 Select the most incorrect statement about Salar Forest
(A)  Salar forests are also found in hilly areas of Rajasthan.
(B)  These forests are named Salar forests due to the abundance of Salar trees
(C) Dhok Kathira and Dhawad are among the chief trees of Salar forest.
(D) Teak trec is abundantly found exclusively in Salar forest.
(E)  Question not attempted
HTAT I o ST W HaE ST HAT T 95 hil
(A)  WICTR 9 TFEdT % URTE &1 7+t are < &)
(B) AT 21 Y AT o 0T 3 1 bl G & AT foam 777 2)
(C) @I e (Dhok Kathira) 37T %98 (Dhawad) HIeTR 99 & HH g8 2
(D) 21 Ty &7 9 firdh ST 3= # S 57T & 9T 57 37T g4 2
(F) ormia g

136 A ccrtain sum of moncy amounts to T 2,286 in 3 years and T 2,448 in 4 vears at simple interest.

What is the rate of interest per annum?
HTETOT ST ol G § Uah e U1 3 3] 5 T 2,286 4T 4 AT H T 2,448 B ST &1 SATST ohf Aniven &€ o7 87
(A) 8% (B) 9%
(C)  10% (D) 11%
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
137 A certain sum of money is divided between Ajay and Chirag in the ratio 7:6 . Tf half of Ajay’s share is T 850

less than Chirag’s total share, what was the sum of money?

o o forelt Ffrar ity ot ooty o o S et 7:6 % srgoma o ferrforer foam ram) =t e <6 T oy v o

o T Tedlt T 850 F &1, et Ty 2k off
(A) 34320 (B) 34,200
(€©) 34400 (D) 34,420

(E)  Question not attempted / Bilfljﬂfﬁ RE]

138 A motoreycle wheel makes 5,000 revolutions to cover a distance of 11 km. The diameter of the wheel (in

cm)is;
(A) S6cm (B) 70cm
(C) 84cm (DY 100cm

(E)  Question not attempted

e HICTATE ekt ohT e 11 fereteiiax bl gl 7 & 1 5,000 FERHIT AT 81 afew s eam (Hl. 3) 2

(A) S68dY (B) 70@.H
(C) 84yt (Dy 1004
(E) i ot

139 Which of the following is not a fibre yielding plant?
(A)  Sun hemp (B) Cotton
(C) Khejri (DY Coconut
(E)  Question not attempted
ToretiEm o & i T LI Iedrash qred 98 27
(A) BT (G &) (B) H
(C) wwgt (D) e
(E) i ot
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140  Which of the following statement is incorrect?

(A) Nitrogen gas makes up 78% of Earth’s atmosphere.

(B)  Only few form of bacteria are able to convert the inert nitrogen into nitrates and nitrites.

(C) During lightning, the low temperatures and pressures created in air, convert nitrogen into oxides of
nitrogen.

(D) Nitrogen oxides dissolves in water to give nitric and nitrous acids and fall on land with rain.

(E)  Question not attempted

TEeTiEa o 4 i 1 s e 87

(A)  HATSISH T8 Yeell oh ATHSE 1 78% HIT sHId! 2|

(B)  IGTVAT o <hael e WehlL 2 SA(hT AT3E IS ohl 15de IR ATZ2ISe U UiEqd o §ehel 8

(C)  Torstefl =merd / R o <1, o9 © TS 2 arel shd dT99T 3R 2T 122N ol A15gisi o Slaaigs) o
yfafdd 3 &

(D)  HATSZISH SATHRATEE STl § oo AT3Tgeh T ATSZH 3T ST | & S ] o |1y q{H 9 A 2

(E) gt o

141 What is the percentage of Reservation for women in Panchayati Raj systen in the State of Rajasthan? (Choose

the most appropriate option from below:)
TSTETH T H YT U sAaedT § ASeTrA| o [oTU 3TREIT ol WTaeld fohaa 87 (e 5 4 e 3w ferered <1

(A)  50% (B)  33%
(C)  40% (D)  45%

(E)  Question not attempted / Bilfljﬂfﬁ RE]
142  What is the main obstacle in agricultural development of Rajasthan?
(A) TLack of land reforms (B) Lack of irrigation facilities
(C)  Limited availability of fertilizers (D) Trregularity and uncertainty of rains
(E)  Question not attempted
ISR 3k Y e o | ey aTeT 7 27

(A) [0 G ol A (B)  To=E glaenait &1 3@
(C) 33k o HITHT SueTeaar (Dy 3wl i srfEfoedr o stffgaar
(E) gt o

143  In which of the following year demonetisation of currency was declared by Indian Government?
R HHT FI 1 8 4 Terdr ool 5 oa o fosiientor <ht ewor sh 77 «ff?
(A) 2016 (B) 2017
(C) 2018 (Dy 2019
(E)  Question not attempted / Bilfljﬂfﬁ RE]
144  Which of the following is the largest tributary of Tndus river?
(A)  Ravi (B) Chenab
(C) Beas (D) Satlyj
(E)  Question not attempted

Treferfiad o @ fieg 7t =1 gert o were: el &4 i 82

(A) TET (B) =AM
(C) = (D) Hast
(E) gt o
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145  Which of the following mountain ranges is associated with Himalayan Mountain range?
(A) Satpura (3) Ajanta
(C)  Shivalik (D)  Vindhya
(E)  Question not attempted

TETeTREa o 8 shi 1 veld e feHTer weid Sl | Hsitd 87

(A) wETET B)
(C) Terafersn (D) formeam
(E) HTana s
146 Karewa formation is useful for which of the following crop? (Choose the most appropriate option from
belows)
(A) Rice (B) Zafran
(C)  Wheat (DY Tca

(E)  Question not attempted

e fren et & e e 3 fore e & (Frer ey 3 o 5

(A) =mEd (B)  STTH{H/hER
© M (Dy =™
(E) gt o
147 TR W58 # ffea Iwent 2
(A) FR (B) gfd
(C) ¥R Dy "I
(E) gt o
148 AEAT 5T H A T 8-
(A) o (B) T
(C) = my fa
(E) gt o
149  Trefafiaa & <stfin 3 wataamh &
. qgﬁﬁ b. HY
C. EILE] d. E2UG
€. RIEED
e few U fereredl # € @ iferes IagT SO A 9 AT
(A) SaeTa, bR e (B) FIA b, ¢ 3T e
(C) A b, c IR (D) FacTa, d 3
(E) gt o
150 T=fafEa § € g &1 i e 8-
(A) (B)
(SEREELE (D) wEF
(E) gt o
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